


-"%*” '=2\ /
L) R v y f }
~3Yx-1) +1 .
b =14 x=A 3
3 Er2l 4
g = Tagh
/7‘/}
l
I /
i i
T __Ll b T
..._ﬁ..“.f. -
j.:'
B
)
|
—L.
4) g2 > =21}
2 (x-2)= 1
= = 4
3 X=2 = +3
[2,3]
j £ )(i . == :__2 +3
Y
3
— ' I
j_l TaRE
v s : ' % — >x

Lo n + 4
+ t + + \







e, T
il 2
x ¥2 A x ¥—2
D:Q\{’-Q,Q%

3(”‘) e e
e rg[x) =>
A Fpmgs

_ 2 [
go 22y 2
U5 x2 Prz,e(,('gu'e 2.08F e
S A 3
' j Y= = =3

e
| ;-\.
] - i
2 \‘L‘T\\b‘lx)-?—




uve
jasimeil L - B Ve Ry
J :'Ii \‘]!)_{‘
x| ks ts>—
LR Lt
o 2 gt L e igiee]
J

3 0
f(X)‘W 2 voumo. dle w=o
4 o dle W&{o/a)

OIHAE'(:OO/O)
g (w) = {2, we koYud2 o)
b, we (0)

S)/w\

o +—t - L

> X

X X/
{l




KED
. 2 2
A (-x)-~/- x - = :’F/)()_\)
P N g Fo—
J{[; 5% S Xr=1 Ixl~4 f i e
2 [AIoJ

de X0 T =
0y
¢ G =
‘ o OY
/[ D L e bl
J A =
K | y=-o79 <
= SHECIH %
Jlx)=w
.'//‘ 2 youw ﬂs— Weéwlo)
A VoA . <Y
[ 2 vouw. Mo we € (Z/ =)

T K




C) 16/%):

) ~ Lo o = Sl => . paaych

>=XK

Z
Ir]t2

xV:DFMDA x|+t Ixl +2
= Z E'%QIO] 5 2 » 2
f(ﬁ/* ~ ~—>-€fx) e
&
| o
:\&“’5.
’ \
l 4
=l | e > x
i 3 w2
‘ I
!
j(x\ﬂ/u:
0 vozw . o[[a w@(‘&:,O)u//Loo)
b rcaas . dies - o (0/,,)
N voa . e =
(w\ = ‘0( me(~°°10>\’(/'lw)
S A, uee—e—éépf—) e =1
2, we (G1)
4
)
At »
&

> X




